Vewr!o@
"UNIVENDOR". PARTS SECTION

PARTS SECTION QUICK THUMB INDEX

~REVISED APRIL 1990 ~

PARTS ORDERING PROCEDURE ...\ A2
EEAFTRE@S; :%Lugmgocgnuggé ................... a2 SECTION A:
[ A N PRQ URE ..., A
HOW TO READ A PARTS LIST........ ... A 3 PrOCEdUFES_ &
QUICK REFERENCE WIRING GUIDE ... A 4 Common Lists
KIT LIST et ar e trrer ey rans A S
LABELS AND DECALS LisT ... """ A6
SPARE PARTS LIST oot A7
FLAVOR LABELS woveer o0 ag-a14 | SECTION B:
COMMON PARTS SECTION B
CABINET ASSEMBLY oo, B 1,B ¢ COMMON 3D
STACK ASSEMBLY COMPLETE oo B 3
STACK CHASSIS ASSEMBLY..... ... B 4
STACK COMPONENTS oo B S.B 6 SECTION C
VEND MECH ASSEMBLY ... B 7 :
QUICK—LOCK ASSEMBLY vioveevvvivviiennsn B 8 :
REFRIGERATION ASSEMBLY ... B9, B 10 DR. PEPPER 3D
DR. PEPPER DIMENTION Il SECTION ¢ :
MAIN DOOR ..o cr1r.ce
QUTER DOOR wevvevovo C 3,C 4
SELECTION PANEL.... oo cs.ce | _
PEPSI PARTS secrion 0 SECTION D:
MAIN DOOR = 39" WIDE oo, .
CUTER DOOR — 38" WIDF............ D 3.D 4 PEPS’ \BD
MAIN DOOR — 32" WIDE.............. D 5,06
QUTER DOOR — 32" WIDE..... .. D 7.0 8
SELECTION PANEL.oovvo D 9,010
TRADE PARTS SEECTION g SECTION E:
MAIN DOOR — FLAT FACE ... 1,E
OUTER DOOR — FLAT FACE. . " £ 3.F 4 TRADE 3D
MAIN DOOR = FLAT FACE........ £ 5.E 6
OUTER DOOR — FLAT FACE..... E7.E 8
MAIN DOOR = CURVED........ E 9.F 10
OUTER DOOR — CURVED...... £ 11.F 12 -
SELE(];F‘TION PANEL......... E 13.€ 14 SECTION F:
ELECTRONIC ASSEMBLY.. E 1S.E 16 2
SEVEN~-UP PARTS E 17-£ 2p COKE 3D
COKE PARTS SECTION F
MAIN BOOR vv.voovooeooi F1LF 2
OUTER DOOR oo F 3.F 4 )
SELECTION PANEL cooiisvee oo, F 3,F & SECT{ON G-
CANADIAN PARTS SECTION
UNIQUE PARTS oo G i-g p CANADIAN 3D
FULL LINE SECTION M
MAIN DOOR - FLAT FACE ... R1,H2
OUTER DOOR = FLAT FACE...... H3,H 4
MAIN DOOR = FLAT FACE.... . H 5'H 6 SECTION H:
QUTER DOOR — FLAT FACE.. .. .. M 7.HB FULL LINE 3D
MAIN DOOR — CURVED. oo, H 9, H 1D
OUTER DOOR — CURVED....... H11.H 12
SELECTION PANEL.......oor H 13.H 14
ELECTRONIC ASSEMBLY.. ... H 15.H 16
MILITARY SECTION | ]
MAIN DOOR .o 1,1 SECTION I‘
QUTER DOOR voveerr 0 [ 3,1 4
SELECTION PANEL. ..o B 1 5.16 MILITARY 3D
ELECTRONIC ASSEMBLY......vonr s 1 7.1 8




®
VE ndo

PARTS ORDERING FROCETWIRES

WHEN ORDERTNCG PARYS, INCLUDE THE FOLLOWING INFORMATIORN:

1. Shipping address.
7. Address where the invoice should be sent.
3. The part number or part identification.

a. Always refer to the pertinent parts and service manual{s) for the correcl part numbor and
part description. If you do not have the right parts manual al the time of your order,
contact THE VENDO COMPANY, 7209 NORTH INGRAM AVENUE, FEESNO, CALIFORNIA 93650 or call
(800) 344-7216 (outside California) or (800) 742-1815 (within California) for our Parts
Department .

b, Do not held the order pending receipt of the parts manual. Use as complete of a
description ag you c¢an. Include the model and serial numbers of the machine, name of the
assembly in which the part is used and, if practical, a sample part. Also, [fummish any
further information that will enable cur parts department to pinpoint the ecxact part
needed.

4. The quantity of parts required.

5. Always_include on the order the sodel mmsber and the serial mmber of the vendor for which the
parts are needed,

6. List any special shipping instructions.

a. Always note on the order if you require United Parcel Service (UPS), Alr, Air Special,
Truck or Parcel Post shipping. Normal mode of shipping from Vendo dis UPS ground.

b. If a specific earrier is desired, also note that on the order.

. Freight charges will be added to the parts invoice.

7. Sign and date the order. Keep a copy for your records.

8. When a purchase order is used, be sure that it is legible and visible,

9. Mail your order to THE VENDO COMPANY, 7209 NORTH INGRAM AVENUE, FRESNO, CALIFORNIA 93630.

0. All orders are carefully packed and inspected prior to shipment. Reoport any packing list
diserepancies to Parts Department within five (5) days of receipt of order. Damage incurred
during shipping should be reported at once and a claim filed with the terminating carriecr.

NOTE: When "right” and "left™ are used in connection with the name of a part, it Is taken to moan
that the person is facing the vendor with ALL doors closed.

MATERTAL EETURN FROCEIRIRE

All items returned must be accompanied by Material Return Tags {P/N L1496) clearly stating the roason
for return. (Taps are available from our Parts Department upon request). To replace an inoperative
part, pleasc use the following instructionk,

1. 1If = sparc part was taken from your avaijlable parts stock and used to replace an operative part,
a. Complete the return tag making sure to fill in ALL reguested information.
b.  Keep top (white} copy for your records.

.  Attach tag to ingperative part and send it by the cheapest method of fransporlation
(usually UPS ground), te THE VENDQ COMPANY, 4015 EAST RAINES ROAD, MEMPHIS, TENNESSEE
38118.

d. A like part will be shipped:
1) At no charge if our inspection shows that the ineperabtive part became defective in
warranty.
2)  And inveiced if the inoperative part does not meet the terms of the warranty.

NUTE: The returned part will be zerapped to eliminate any further handling charges.

2,. If spare part is not available

a. Order part using parts ardering procedure. The part will be 5h1pped and inveiced to you.

b.  After the part is received, follow the procedure outlined above in step 1.

1) FKe z=ure to check the box marked "eredit'" and te fill in the inveice number covering
the part.

c. If our inspection shows that the inoperative part was defective in warranty, a credit will
be issued to cancel the inveice on which the replacement part was shipped. This credit
will include any prepaid transportabtion charges.

1} To recelve credit, the inoperative part must be returmed within 30 days from the date
the replacement was shipped.
2)  Vendo does not issue cash credit fer the teturn of any part OF ACCOS50TY.

REFRIGERATION FETURN FROCKINIRE

Refrigeration units require & separate Refrigeration Return Tag (P/N L1327) For cach nnit veburned,
The procedure is the same as the material return, except the white (top) copy is attached to the
unit, and you keep the copy for your records. All refrigeration units are to boe veburned to THE
YENDO COMPANY, 4015 EAST RAINES ROAD, MEMPHIS, TENNESSEE 38118. The return tag must be £11led aut
in its entlrety- Refrigeration units shuuld also be shipped wvia the cheapest mothod of
Cransportation (usually UPS ground).

Ja 8 ~REVISED APRIL 1990 ~



VC‘H do®

READING A FARTS LIST
For the following information see exmmple below

1. TIEM NMBFR is found in two locations: One, identifying the part on the drawing; Two,
identifying line on the parts list. The item number is the identifying reference that ties
together information on the parts list to pictorial representation of part cn the drawing.

2. 'PART MMBER is the Vendo part mumber for the identified part.

3. NRBER REQUIRED is the quantity of the part as it is used on this particular assembly page
An A/R means "as required” and is normally used when two different part mmber columns are used
and the quantity of the indicated part is different for each column,

4. PART NAME AND DESCRIPTION is the Vendo verbal description of that particular part.

5. ITEMLETTER refers to hardware used to fasten Vends parts. See page A-14 for ifem letters' part
mmbers and descriptions.

6. AN ASTERTSK indicates to a note at the end of the parts.
ASSEMALY LISTINGS

LEVEL 1 is the motar plate assemhly. Anything indented under the name of ap assembly 15 a
detail part, and will be included in the parts order when the assembly is ordered.

LEVEL 2 is the motor cam assembly, a sub-assembly of the motor plate assembly. The detail parts
of this sub-assembly are indented under it part name. Order the subrassembly part mmler to
receive parts indicated.

LEVEL 3 shows parts that are not part of the motor cam assambly, but which are part of the motor
plate assembly.

LEVF], 4 shows individual parts that are not part of the motor plate assembly. These parts can
be ordered individually.

EXAMPLE:

MOTOR PLATE A SEMA} Y \
TEM |\ \ N (TEM
NO. PART NAME AND DESCRIPTION REQ. | PART NUMBER ILETER
r MOTOR PLATE ASSEMBLY i 134837
2T " MOTOR 1 389401 p
LEVEL I —""3 | o MOTOR CAM ASSEMBLY . 389400
) RETAINER CAM 1 388664 c
LEVEL 25 | gpnwcsR 3 387849
AGE BA 3 89399
LEVEL 3—t55 | DECALS/FLAVOR LABELS AR -
PRV i
B>~ .fu/f:: SEE PARAGRAPH &
LEVEL 4

~REVISEDL APRIL 1990 ~ A 3




| ®
Veﬂdo e

A
“"UNIVENDOR's 1990 QUICK REFERE

Lo

r

i

eyt

WIRING GUIDE 3D

I

3 ?,r-‘
y ¥ips

NCE

NOQTES: FOR PLPR & PRICE USE:

SCHEMATIE 380448 (REPLACES EXISTING)
JAREI0 (IN ADDITION TO EXIST.)

LGHTING TYPE | WIRING DIAGRAM | ADARTER 133500
SLINLINE IBABAS

HIGH GUTPUT / 180 IgaAsn CHAGRAM

MILITARY 580887 FOR COKE 4 PRIGE USE:
FLAT FACE TRADE 189882 A\ ADABTER 133500

SCHEMATIC 385447 (REPLACES EXISTING)
JA88T0 (/N ADBITION TO EXIST.)

SCHEMATIC  JBY447 (REPLACES EXISVING)

CIAGRAM
REFRIG, T'YPE WIKING DIAGRAM & FOR COKE 2 PRICE USE:
SUPER 1/3-uP Jaoaey ADARTER 133678
DOWES T

DIAGRAM

388810 (IN ADDITION [ EXIST,}

Jo ) Fe3
VA
YRS E LS

r

f'/. (JC:‘

il
B -/
&Y

MODELS CONFIGURATIONS DOGR MECH WRING | LIGHT
PEPS] MAGNUM PANTEN HARNESS | HARNESS | DIAGRAM MATIC Y Larness
516, 606 8 SEL. 3+ 5 eumAY _:%La. 134634 389870 | 388885 | 134839
510, £00 10 SEL. 0+ 10 89 )| 134638 389868 | 3A8885 |134839
COKE LANDSCAPE A A (A 2971
518, 606 7 SEL. 3+ 5 133711 134638 | 289876 | 383884 | 1348351
510, 600 g SEL. 0+ 10 133302 | 134640 389874 | 388884 | 134836
DR, PEPPER DIMENSION Il
516, 606 8 SEL. I+ 5 134436 | 134534 389870 | IBBRAS | 134839—1
510, 600 10 8EL. -0+ 10 133719 134636 3JB9BER | JBBBB5 | 1348B39-1
TRADE — FLAT & CURVE FACE A\ A
516, 606 8 SEL. I+ 5 133715 134634 389870 | 388885 | 134839-2
510, 600 10 SEL. 0+ 10 133395 | 134636 189888 | 388885 |134339-2
518, 8606 8 SEL., 3+ 5 134841 134634 389870 | 188885 | 13483¢-7
JUP
516, GOB 8 SEL. 3+ 5 134649 | 134634 JB9RY0 | 388885 | 134830-1
510, 600 10 SEL. 0+ 10 134731 134636 J89B6E | 3BB8B5 | 1348391
FULL LINE=FLAT & CURVE FACE/\ A
516, 60B 8 SEL. 3+ 5 133715 134634 SBg870 38BBES | 134845-2
510, 80Q 10 SEL. 0 + 10 133395 134638 JBY9BEE 5B8BS | 1348392
516, 606 /M&'L. 3+8 134843 | 134634 | 389870 | 388885 | 134839-2
P “"\
\ HARNESSES WRING | ELECTRONIE BOARIS
ELECTRONICS OPTION SELEkTION | B6OR | VEND MECH_ | COMAGE OrsPLAY | TRANSEORMER | DHAGRAM | GONTROL | DISPLAY
510,600 TRADE 10 SEL. 0 + 10 | 134417 (134815 | 134814 [132834—1 132124=1| 1346868 | 3500194 | 385962 | 385964
510,600 PEPSI 10 SEL 0 + 10 [ 134B16 [134815 | 134814 |132834—1 [132124=17 | 134698 | 300194 | 385952 | 385063
516, 506 8 SEL. 3 + 5 134672 134573 134679 [132834=1 [132124-1| 134698 | 388879 | Jeses52 | 3e5053
510, 606 8 SFL. 3 + 5 B\ | 13842 [134573( 134679 |132834—1 [132124—71| 134598 | 380879 | 385962 | 385961
h"“‘"‘-—_..__‘_ ____.r""./
. HARNESSES WIRING | ELECTRONIC BOARDE|
MILITARY SLEENON ] COOR | VEMD WMECH | CONNAGE rspLar | TRANSFORMER | QIACRAM | CONTROL | (HEPLAY
516, 506 8 SEL. 3 + & 134572 (1345731 134679 |132834=1 132124-1] 134698 | 389870 | 385987 | 384953
510, 806 8 SEL. 3 + 5 134842 |134573| 134870 (132834—1 132124-11 134808 | 389879 | 385952 | 385063

/& FOR TRADE 4 PRICE usE:
RRLTE

ADAPTER

SCHEMATIC 289448 (REPLALES FXSTING)
CIAGRAM SBAGI0 (N ADDITION TQ EXIST,)
FOR  PEPS 2 PRIGE USE;

ADARTER 133879

SCHEMATIC  IBRA4E EREP'LACES EX]S'ITN(:}_
DIAGRAM SESEIQ {IN ADDITICN TO EX5T)

ALL SMALL BUTTCONS

LIGHT HARMESS LISTED (5 FOR FLAT UMITS
ONLY USE HARNESS NOQ 104839 Font
GURVED LIMITE,

85
47 Se
-

=~ HEVIZED APRIL {000 ~




~REVISED APRIL 1000 ~

f - - f .
A Voo e
5 ; Y ) “ .;\'\ 57 L
(\ \N l) i r‘,’ Ny
\ﬂ M ( Y\‘L‘" s Ay :
\ e} th’{ ! St
LN N
Voo LY f
A :
v oY /
\\ Q ;'"‘1 \‘5 : ‘ oo
‘ Sy /W by "
0 \ . ')/‘/ 0
N K ‘
L] 2 . ‘__‘__-,_/
UNIVENDORs KIT=LISF 3D
DESCRIPTION KIT NUMBER
CASTER KIT 133513
4 PRICE COUNTER RELAY KIT 134354
SINGLE TO 4 PRICE - COKE & PFPSI 133590
SINGLE TO 4 PRICE — TRADE 133591
MAKA TO MARS ELECTRONIC CONTROL ADAPTER 133652
INNER — OUTER DODOR LOCK 133449
COIN BOX LOCK — PEPSI, COKE, TRADE, & DR. PERFER DIM I 133450
COIN INSERT COVER PLATE KIT — COKE LANDSCAPE 134394
COIN INSERT COVER PLATE KIT — PEPS! & TRADE 1354395
LOCK STUD COVER KIT 134401
LOCK COVER KIT (SLIM) 134439, 134542
HONOR GARLD ADAPTER KIT-PEPSI, COKE, TRADE, & DR. PEPPER DIM il 133457
HONOR GARD HOUSING KiT 133556
HONOR GARD KIT = WIDE MQUTH ALL EXCEPT DR. PEPPER 133658
BOTTLE OPENER KIT — PEPSI COKE, TRADE, & DR. PEPPER DIM (I 133453
CROWN BOX KIT — PEPS! & TRADE 133555
CROWN BOX KIT ~ COKE 1335551
CROWN BOX KIT — DR. PEPPER DIM NI 134353
VENDER SUPPORT KIT — BLACK BRACKETS 133666
VENDER SUPPORT KiT — RED BRACKETS 1336661
DOOR POWER SWITCH KIT 123669
COKE P.0O.S. PLATE KIT 133686
VEND DOOR BUMPER KIT 134397
WATER SHIELD KIT = COINCQ ELECTRONIC — CANADIAN & VENGUARD 134414
BiLlL VALIDATOR ADAPTER KIT 133585
VENDER TIMER KIT 133733
QUICK - LOCK 134454
LOADING RACK 134687
CONVENTIONAL LIGHT TO HIGH QUTPUT — PERSI & TRADE 134308~ 52
HIGH QUTPUT LIGHT TO CONVENTIONAL—COKE ‘ 134308-33
SEVENUP HONOR GARD 134724 .
12 0Z. CAN STAGGERED COLUMN gALLg 134451-22 ="
10 QZ. CAN STAGGERED COLUMN (ALL 13445712
10 0Z, BOTILE STAGGERED COLUMN (7a™) 134451—15
10 0Z. BOTTLE STAGGERED COLUMN (72"} . 15445116
12 0Z./16 0Z BOTILE STAGGERED COLUMN (7g" 134451=18
12 0Z./16 0Z, BOTILE STAGGERED COLUMN (73" 15445119
16 02 P. S. BOTTLE STAGGERED COLUMN (ALL).Mfifnr.cme ?’fw 40| 134451-20
12 02. CAN SINGLE COLUMN (Aity——.. . i FI3FaET=oTI N
10 0Z. CAN SINGLE COLUMN (ALY~ = = - C e T 1344511
10 QZ, BOTTLE SINGLE COLUMN (79"} 13445113
10 C0Z BOTTLE SINGLE COLUMN (727 134451—14
12 0Z./16 0Z. BOTTLE SINGLE COLUMN (ALL) 15445117 u

A D




Vendo ®

“UNIVENDORL

LABELS AND DECALS

DESCRIFTION USER MODELS FART NO,
INNER DOOR LABEL ALL 389132
CODE LABFEL ALl 3849749
COINAGE LABEL ALL 289130
WARNING LABEL ALL 50 HZ 388887
" COIN INSERT INSTRUCTION LABEL COKE JB83527
‘ COIN INSERT INSTRUCTION LABEL COKE C/E J8B327-1
COIN INSERT INSTRUCTION LABEL COKE C/F X88327-2
\, COIN INSERT INSTRUCTION LABEL ALL OTHERS ~ - 388389
{7 PRICE DECAL COKE JBA34R
~PRICE DECAL ALL OTHERS 3883890
|POINT OF SALE LABEL DIET COKE DOM. 388223
" POINT OF SALE LABEL COKE DOMESTIC 388239~ 3
POINT OF SALE LABEL DIET COKE C/E, C/F 3882354
FOINT OF SALE LABEL COKE C/F W/NUTRASWEET 388239-5
POINT QF SALE LABEL COKE C/F W/NUTRASWEET JBB234~-6
POINT QF SALE LABEL COKE C/E 38B239—-9
" POINT OF SALE LABEL COKE C/F J88238-10
‘' FLAVOR LABELS — SEE PAGES A8 - Al4 ALl ~
WIRING DIAGRAM LABELS - SEE PAGE A4 ALL ~
WIRING SCHEMATIC LABELS ~ SEE PAGE A4 | ALL s
GQUICK-LOCK WARNING LABEL ALL 289220
LOADING INSTRUCTIONS LABEL DOMESTIC & GCANADA 2BB8BB2
LOADING INSTRUCTIONS LABEL INTERNATIONAL 389444
MODEL NUMBERS —| 510 ~ 516 | 600 — 806
DESCRIPTION PART NO. FART NO.
COKE DOMESTIC J888553~9 38895312
DIET COKE DOMESTIC 3884483 388448-4
PEPS! JBRZ2E9-3 3882634
DIET PERSI 388476—4 388476~5
SLICE 3BB440 =4 388442 -3
DR. PERPPER ~ DIMENSION il J88843-4 388843-3
SEVEN UP 388493 388483

6

~REVISED APRIL 1890+



Ven do ®

13 n
UNIVENDOR'® SUGGESTED SPARE PARTS LIST
NO, COKE BERS) PR,_PEFFER TRADE
PART NAME AND DESCRIPTION REQ'D PART NO PART NO. PART NO. PART NG.
OUTER DOOR
CORRECT CHANGE LAMF 1 J87124 SB71734 387124 JB/1Z4
COINAGE DOOR LATCH 1 388123 JEB123 388123 J88123
SELECT BUTTON ASSEMBLY 1 133430 -- 133797 ~
SELECT BUTTON MEDIUM 1 - - ~ J70840-1
SELECT BUTTON SMALL 1 ~ ~ ~ 3708411
SELECT BUTTON PEPS) 1 ~ 387248 o -
SELECT SWITCH 1 388287 337576 J68293 385440
SELECT BUTTON HOUSING ] JBR388 ~ 388829 o
SELECT BUTTON ONLY 1 88250 ~ 388845 -~
S0LD QUT LAMP 1 388277 383991 S83991 383491
CREDIT RELAY 1 353343 353343 JE3343 353343
LAMF BALLAST 1 J8B250 388259 JBB25Y JBEZ259
LAMP BALLAST 1 J8B405 ~ 388405 JBA4DS
LAMP BALLAST 1 - ~ ~ 388453
FLUORESCENT LAME 1 ~ 388320 L] 388320
FLUORESCENT LAMP 1 388320-1 S88320-1 ~ J88320-1
FLUORESCENT LAMP 1 S88320-2 JBB320-2 ~ J8B30=2
FLUORESCENT LAMP 1 ~ ~ ~ 388310- 3
FLUORESCENT LAMP 1 o ~ ~ JBR310-4
FLUORESCENT LAMP 1 ~ ~ - 388310~ 5
FLUORESCENT LAMF 1 388408 ] S8R408 388408
FLUDRESCENT LAMP ] 884081 ~ 3884081 388408-1
FLUORESCENT LAMP 1 884082 ~ S8B408-2 338408-2
LAMFP HOLDER FIXED 1 JB8261 388281 388267 J8ER26
LAMP HOLDER FIXED 1 J88408 ~ J8B406 JBB405
LAMP HOLDER PLUNGER 1 88260 488280 SBB260 388260
LAMF HOLDER PLUNGER 1 388407 ~ JBB40Q7 JBB407
STACK PARTS
MOTOR ONLY 1 388637 J8ae3? 388637 3B8EI7
START/BYPASS SWITCH 4] 388688 JBB668 3BBEBS JB8683
MOTOR CARRIER SWITCH 6 488687 388687 JB8687 JBBLG?
S0LD OUT SWITCH [ 388299 388299 388299 388295
REFRIGERATION PARTS

SUPER1/3 HP START RELAY 1 333894~19 33389419 333894-18 34589 =149
SUPER 1/3 HP OVERLOAD PROTECTOR 1 450562=-33 450562-33 45052- 33 45052-33
TEMPERATURE CONTROL 1 JEB794 JGBTa4 JEBYG4 JER 7w
SUPER 1/3 HP EVARPDRATOR FAN MOTOR ! 42321=17 42321-17 42321-17 42321-17
SUPER 1/3 HF CONDENSOR FAN MOTOR 1 42321=36 42321-36 42321= 36 42321- 36

~REVIBED APRIL 1990 ~

A




VE'H do ®

COKE DESIGNATED FLAVOR LABELS

388628
+88628-1

COKE
SELECTION WINDOW LABELS
(1,57 X 3.38)
COKE CLASSIC
COKE
DIET COKE

CAFFEINE FREE DIET COKE
CHERRY COKE

TAB

SPRITE

MINUTE MAID ORANGE SODA
DIET SPRITE

DIET CHERRY COKE

FRESCA

CAFFEINE FREE DIET COKE
CAFFEINE FREE TAB

MELLO YELLD

MR. Pigg

SUGAR FREE MR. FIBB
FANTA QRANGE S0DA

FANTA GINGER ALE

FANTA ICE TEA

DIET MINUTE MAID ORANGE SODA
FANTA GRAPE S0DA

FANTA ROOT BEER

MINUTE MAID LEMON LIME S0DA
DIET M/M LEMON LIME SCDA
FANTA RED CREAM S0DA
FANTA STRAWBERRY
COCA-COLA

QIET COCA=COLA

SB8BE628--2

J88628-3

JBBG6ZB—4

Jga628-5

S88628-6

JBREZR-7

J88628-12
JBBE28-13
JABRBZR-14
388628-16
JBBE28—-17
JBBEZB-19
2886328~20
J8BEz8-21
JB8628-22
38862823
383862824
38BE628-25
JBBE28-26
3BBEZB-27
JBBe28-28
S88628-29
J88628-30
3BB628-31
Ja8628-a5
J8BE2B-B6

DR. PEFPPER DIMENSION Ilf
WINDOW LABELS

{1.42 X 3.35)
COKE JBBRBIZ-18
SPRITE Jg8872-19
DIET COKE JBBE72-20
CORE CLASSIC 38BR72=-22

SEVEN UP
FLAVOR LABELS

(1.42 x 3.35)
COKE 389715-19
SPRITE 3BG716-20
DIET COKE J80716=-21
COKE CLASSIC 3Bg716=-2%

A

TRADE STYLE
SMALL BUTTON [ABELS
(2.26 X 3.47)
FRESCA 384171246
MELLO YELLO 384171247
MR. PIBB 384171-251
SUGAR FREE MR, PIBH JB4T71=252
FANTA GRAPE JB4171-253
FANTA ORANGE 384171254
FANTA ROOT BEER 384171255
DIET COKE 384171256
CAFFEINE FREE COKE JB4171-257
CAFFEINE FREE DIET COKE 384171258
CAFFEINE FREE TAB 384171259
CHERRY COKE 384171260
CLASSIC COKE 384171261
NEW COKE 384171-282
COKE (NEW) 384171-263
CLASSIC (NEW) 384171264
CHERRY COKE (NEW) 384171-265
DIET COKE (NEW) 384171266
TAB (NEW) 3B4171-267
SPRITE (NEW) JB4171-068
DIET SPRITE JB4171-269
DIET CHERRY COKE 384171-270
TRADE STYLE
MEDIUM BUTTON LABELS
) (2.25 ¥ 3.50)

"CHERRY COKE 38407789
MINUTE MAID LEMON LIME 384077-109
M/M DIET LEMON LIME 3B4077-110
MINUTE MAID ORANGE 3B4077—-111
MINUTE MAID DIET ORANGE JB4077~-112
DIET CHERRY CQKE 384077=114
COCA=COLA 384077=-169
FRESCA 384077170
SPRITE 384077=171
SUGAR FREE SFRITE 384077=-172
TAB 384077-173
MR. PIBB 384077=174
SUGAR FREE MR. PIBB 384077=175
FANTA GRAPE JB4077—176
FANTA ORANGE 384077177
FANTA ROOT BEER J284077-178
MELLD YELLO 384077179
HI=C ORANGE J84077-180
HI=C GRARE 384077-181
HI=C LEMONADE 384077182
HI—C RED PUNCH 3B4077=183
DIET COKE JB4077-184
CAFFEINE FREE COKE JBA077-185
CAFFEINE FREE DIET COKE 384077186
CAFFEINE FREE TAB 384077187
Hi=C PEACH 384077188
CLASSIC COKE 384077=~189
NEW COKE 384077-180
NEW YORK SELTZER RASPBERRY 384077191

~REVISED APRIL 1900~



®
VEH do

PEPSI DESIGNATED FLAVOR LABELS

PEPS!I MAGNUM
BUTTON LABELS

(1.5 x 3.31)

PEPS!
MOUNTAIN DEW

TEEM

GRAPE

ORANGE

ROOQT BEER

STRAWRERRY

SLICE LEMON /LIME

DIET SLICE LEMON/UME
DIET PEPSI ONE CALORIE
CAFFEINE FREE DIET PEPSI FREE
PEPS! LIGHT ONE CALORIE
DIET MOUNTAIN DFEW

WILD CHERRY PEPS)
CHERRY COLA SLICE
MANDARIN ORANGE SLICE
DHET MANDARIN ORANGE SLICE
DIET CHERRY COLA SLICE
APPLE SLICE

DIET APPLE SLICE

PERPS| FREE CAFFEINE FREE
DIET WILD CHERRY PEPS!

TRADE STYLE

388720
3BR720--2
J88720-6
JBR720-7
388720-8
J8B720~-9
388720-39
JBAR720-56
S8B8720-87
+B8720-58
38R720-59
J88720-60
J8B8720~83
388720-79
+88720-82
J8B720-83
JBB720-84
288720-85
JBA720-86
JBA720-87
J88720-89
JBE720-124

MEDIUM BUTTON LABELS

(2.30 X 7.08)

PEPS!
TEEM

GRAFE (PEPSI)

QORANGE (PEPSI)

ROOT BEER (PEPSI)
MOUNTAIN DEW

PEPS! FREE

MOTT'S APPLE CRANBERRY
MOTT'S APPLE

MQTT'S APPLE~GRAPE

MOTT'S GRAPEFRUIT

MOTT'S ORANGE FRUIT JUICE BLEND
SLICE LEMON/LIME

DIET SLICE LEMON/LIME

DIET PEPSI ONE CALORIE
CAFFEINE FREE DIET FEPS| FREE
PEPS! LIGHT ONE CALORIE
WILD CHERRY FEPS
MANDARIN DRANGE SLICE
DIET MANDARIN ORANGE SLICE
CHERRY COLA SLICE

DIET CHERRY COLA SLICE
APPLE SLICE

DIET APPLE SLIGE

PEPSI FREE CAFFEINE FREE

~REVISED APRIL 1990 -

384077
SB4077-1
AB4077=-2
J84077=3
840774
38407727
384077=37
JB4077-83
384077-54
JB4077 65
384077 =66
J84077-67
38407783
84077 -84
3B4077-85
84077 -85
3B4077-87
384Q77-95
384077=100
J84077-101
3B4077=-102
SB4077-103
JB4077-104
3B4077-105
J84077-108

TRADE STYLE

SMALL BUTTON LABELS

{2.30 X 3.50)

MOTT'S APPLE CRANBERRY
MOTT'S APPLE

MOTT'S APPLE GRAPE

MOTT'S GRAPEFRUIT

MOTT'S ORANGE FRUIT JUICE BLEND
MOTT'S APPLE RASPEERRY
MOTT'S FRUIT PUNCH

PEPS)

TEEM

MOUNTAIN DEW

PEPSI FREE

DIET PEPSI ONE CALORIE
CAFFEINE FREE DIET PEPSI FREE
PEPS! LIGHT ONE CALORIE
SLICE LEMON/LIME

DIET SLICE LEMDN/LJME

WILD CHERRY PEPSI
MANDARIN QORANGE SLICE
DIET MANDARIN ORANGE SLICE
CHERRY COLA SLICE

DIET CHERRY COLA SLICE
APPLE SLICE

DIET APPLE SLICE

PEPSI FREE CAFFEINE FREE
DIET MOUNTAIN DEW

DIET CHERRY 7-UP

3B4171-498

384171 =98

3841 71-700
384171101
3B4171-102
JB4171-124
384171181
384171 =271
3841721272
384171273
JB4171-274
JB4171—-278
3B4171-276
JB41771=-277
JB4171~-278
JB4171-279
J84171-280
JB4 171281
JB4171-282
JB4171-283
F84171=284
3B4171-285
384171=-286
JE4171-287
JB4171-288
384171~-2859

DR. PEPPER DIMENSION il

STYLE LABELS

(1,42 X 3.35)

PEPS!
PEPSH

388877 =21
38971622




Vendo™

IRADE FLAVOR LABELS
SMALL BUTTON LABELS

(2.30 ¥ 150)
FROSTIE ROOT BEER 3841711 PEACHES "N' CREAM DIET 5TH AVE, 384771-213
QRANGE CRIISH J84171-2 RGOT BEER DIET LTH AVE. JB41T1-214
SUGAR FREE SEVEN UP IB4171-3 RAOT BEER 5TH AVE. S84171 215
STRAWBERRY CRUSH 3841714 LEMON LIME STM AVE. IB417I_21R
GRAPE CRUSH 384171 =6 MANDARIN ORANGE BTH AVE, 3417 =017
BIET SEVEN P 3B4171-7 PEACHES 'N' CREAM 5TH AVE. 35417 -018
SEVEN UR J84171-8 WILD CHERRY 5TH AVE. 34171 -749
LEMON LIME J84171-19 GINGER ALE S0HO 384171270
GINER ALE JB4171-20 ORANGE SODA SOQHO JB4171=221
STRAWBERRY IB4171-30 GRAPE S0ODA SCHO 3841 /1 =221
R/C JBa177-24 RASFBERRY SOHQ 384171-223
NEH! ORANGE J84171=25 RQOT BEER S0OHO 384171224
NEHI RGOT BEER A843171-26 LEMON LIME SQHO 384371225
NERI STRAWEBERFY 38417127 CREAM S00A S0HOD 384171528
NEHI GRAPE 384771=28 BLADK CHERRY S0HO J84777 277
URPER 10 384171-29 APPLE S0DA NEW YORK SELTZER B4 71 =728
DIET RITE COLA 384171-30 BLACK CHERRY NEW YORK SELTZCR 384171225
SUNKIST 3B84171=-3) BLACKBERRY 50DA NEW YORK SELTZER  334171-230
DIET SUNKIST Ig4171-32 COLA & BERRY NEW YORK SELTZER 384171 =251
A & W ROOI BEER J84171-55 COMCORD GRAPL NEW YORK SELTFER 3841 71-3232
SUGAR FREE A & w ROOT BEER 384171=56 CLUB S0DA NEW YORK SFITZER JBE171-933
SUGAR FREE SQUIRT Jg4171-68 DIET BLACK CHERRY NEW YORK SELIYER 184171-334
LIKE JB4171-78 OIET FEACH SOGA NEW YORK SLLIZER 384171745
SUCGAR FREE LIKE J84171-77 QIET RQQT SEER NEW TORK SELTZER 384171-236
COUNTRY TIME LEMONADE 384171-85 DIET RASPBERRY Z00A NEW

DIET RITE SUGAR/SALE /CAFFEINE YORK SELTZER 3H4171 -237
FREFE Witk NUTRA SWEET 3B4171-89 DIET VANILLA CREAM NEW YORK SLLIZER 3gd17!_748
SUGAR FREE CR. PERPER 48417190 LEMON LIME NEW YORK SELTZER 384771-239
SUGAR. CAFFEINE, PEPPER FREL 484171 -91 ORANGE 5004 NEW YORK SELIZER 384171-240
PEFPER FREE AH4171-92 PEACH 5004 NEW YORK SELTZER 3841 /1-241
DR. PEFPER J84171-93 ROQI BFEER NEW YORK SCLjZER 3RA171-242
CANADA DRY JBa171-494 RASPBERRY MEW YORK SELTZER SG4i71-243
SUGAR FREE CanADA DRY 384171-95 VANILLA CREAM NEW YORK SELTZER 38417 -4
MOTT'S APPLE CRANGERRY 384171-98 FRESCA IB171-348
MOTT'S ARPLE JB4171-99 MELLO YELLQ JB4V73 =047
MOTT'S APPLE GRAPE 38417:-100 SPRITE 384171248
MOTT'S GRAPEFRUIT 38417 -1 MR, PIBB 3847 -251
MOTT'S ORANGE FRUIT JUICE BLEND  J1B4171-102 SUGAR FREC MR, PISE HA171-257
HAWAIIAN PUNGH JE4171-103  FANTA GRAPE SB41TI-263
CREAM CRUSH 384171106 FANTA ORANGE 384771-254
SQUIRT 384171112 FANTA RCOT 3EER JB4171-255
DIET ORANGE CRUSH ZB4171=113 CAFFEINE FREE COKE 384571757
MOIT'S APPLE RASFBERRY 38417114 CAFFEINE FREE DIET COKE 184171- 2568
LEMONADE 384171-137 CATFEINE FRES TAR 3841771255
CHERRY R/C 384171-138 CLASSIC GOKE 3841771-26]
CANADA ORY TAHITIAN TREAT JB4171-140  MEW COKE 384171262
DIET CHERRY R/C 84T 71142 CORE JB471- 763
DIET DR, PEPRER JB4171-144 CLASSIC 3B4171-264
DIET SUNKIST PLUS 384171-145 CHERRY COKE 384174265
QIET R/C 384171147 DIEY COKE 334777 -2686
RQOT BEER 384171-453 rAg 384171287
DIET ROOT SEER 3171154 SPRITE 384y /1 2GR
GRAPE I84171-155 DIET SPRITE 84371269
ORANGE 334171156 DIEr CHERRY COKE 384371270
CHERRY SEVEN WP 384171-161 PEFS! 3:34IF!—:?}"T
DIET CHERRY SEVEN UP 384171-152 TEEM 4171272
R/C NO CAFFRINE 384171— 168 MOUNTAIN DEW Ja4171-373
DIET R/C NO CAFFEINE 384171 =164 PEPS FREE 384171774
VERY FINE GRAPE 384171-169 D!ETFEPEE'S:‘ ONE CALCRIE - 3'1&41 /1278
VERY FINE LEMONADE 354171170 CAFFEINE FREE QIET REPEI FR B41/1-.278
VERY FINC 100% GRAPEFRUIT WUICE  Ta4171-17,  MANDARIN GRANGE sLiek 184171-pa1
VERY FINE 100% ORANGE JUIGE 384171172 CHET MANDARIN ‘O'—\EAINC:I: SLICE 384171282
VERY FINE APPLE CRANBERRY CHERRY COLA SUCE Jg4: /e -983
JUICE COCKTAIL 384171-173 DIET CHERRY COLA SLICE EL171 - 554
VERY FINE FINEARPLE ORANGE JUICE 384171174 APPLE SLICE JB41T71-285
MOTT'S FRUIT PUNCH g4171-18) DIET APPLE SLICE 384177 o
PINEAPPLE ORANGE 384171130 PEPSI FREE CAFFEINE FREE T84t 71 —0a
CHERRY CRUSH 384171194 DIET MOUNTAIN DEW 384171284

! " . C (= " Ja_ -
APPLE CRUSH 384171196 DIET CHERRY ﬂbE.y_N JUF! 384173 -289
FEPS| LIGHT ONE CALORIE 384177-3277

CREAM S00A J84171—198 SLICE bt 7r_-
SE\.}E:\EE%ENGO;DGO 5 384171200 DET SLiCE gﬁ:]?l_ﬁjg

oIE u L 2a4171-210 ; - TRas o
WILD CMERRY DIET 5TH AVE. 8417102 WILD CAERRY PERS! I84177 - 240

A 10

=~ REVISED APRIL 1900 ~



STRAWBERRY
LEMON LIME
GINGER ALE
CHERRY

coLA

R/C

NEH! QORANGE

NEHI RQOT BEER
NEH! STRAWBERRY
NEHI GRAPE
UPRPER 10

DIET RITE COLA
SUNKIST

DIET SUNKIST
SEVEN LR

A & W ROOT BEER
SUGAR FREE A & W ROOT BEER
DIET COLA
LEMONADE

DIET SEVEN LR
LIKE

SUGAR FREE LIKE
COUNTRY TIME LEMONADE

DIET RITE SUGAR/SALT/CAFFEINE
FREE WITH NUTRA SWEET

CANADA DRY

SUGAR FREE CANADA DRY

DAD'S ROOT BEER

BUBBLE UP

SQUIRT

DIET SQUIRT

MOTT'S APPLE CRANBERRY

MOTT'S APPLE

MOTT'S APPLE GRAPE

MOTT'S GRAPEFRUIT

MOTT'S ORANGE FRUIT JUICE BLEND

ORANGE CRUSH
GRAPE CRUSH

STRAWBERRY CRUSH
HAWAIAN PUNCH

~BREVISED APRIL 1090~

"
V(m do™

TRADE FLAVOR LABELS
MEDIUM BUTTON LABELS

{2.30 X 7.08)
384077-7 DIET ORANGE CRUSH
3R4077-8 MOTT'S APFLE RASPOERRY
] DIET BUBBLE UP
3B4077-3 NEHI PEACH
384077-10 CHERRY R/C
38407711 DIET CHERRY R/C
J84077-12 QIET FROSTY ROOT BEER
JB4077=13 DIET R/C
3B4077—14 CREAM SODA CRUSH
384077—15 DIET SOUIRT PLUS
18407718 DIET MOUNTAIN DEW
38407717 WELCH'S STRAWBERRY
38407718 CHERRY SEVEN UP
384077-19 DIET CHERRY SEVEN UR
38407720 A & W CREAM S0DA
28407721 A & W DIET CREAM SODA
384077-25 R/C NO CAFFEINE
DIET R/C WD CAFFEINE
38407726 VERY FINE FRUIT PUNCH
JB4077-32
38407733 DIET DAD'S ROOT BEER
38407736 VERY FINE CRAPE DRINK
384077—39 SUNKIST PLUS
384077—40 ICE TEA
JB4Q77-45 ISLAND FRUIT PUNGCH
CREAM SODA
384077=47 NEHI LEMONADE
J84077-53 SEVEN UP GOLD
38407754 DIET SEVEN UF GOLD
J84077-57 5TH AVE SELTZER RASPRERRY [DIET
JB4077 =58 STH AVE, SELTZER RASFBERRY
JB4077-59 SOHO ROOT BEER
384077-60 SOHO LEMON LIME
3BA077-63 S0HO RASPBERRY
384077 =54 S0HO GINGER ALE
JB4077-65 EOMO ORANGE SODA
3B4077-66 SOHO GRAPE S0DA
JB4077-67 S0HD BLACK CHERRY
JB4077-68 SOHO CREAM  SODA
JB407T -6 BLACK CHERRY NEW YORK SELTZER
38407770 RASPRERRY NEW YORK SELTZER
384077-73

11

38407775
384077-32
3B4G77~090
384077-91
384077=94
JB407 796
J84077-57
384077-99
384077-107
384077-113
J84077-115
3B4077-116
384077-121
ZB4077~ 124
384077-125
384077-126
384077-127
384077-128
384077-130
384077132
384075139
J84G77-140
3B4077-143
3B4077-144
3B4077-146
384077-147
84077149
3B4077-150
JB4Q77-155
NEHI ORANGE
384077-158
3R4077-166
JB4077-160
3B4077-161
JB4077-162
384077-163
JB4077-164
JB4O7 71 65
384077166
3B4077-167




VEH do®

DR. PEPPER DESIGNATED FLAVOR LABELS

SMALL TRADE STYLE MEDIUM TRADE STYLE
FLAVOR LABELS FLAVOR LABELS

(2.30 x 3.50) (2.30 % 7.06)
DR.PEFPER 384171 DR. PEFPER 384077-5
SUGAR FREE SEVEN UP 3841771-3 SUGAR FREE DR. PEPPER 3840776
SUGAR FREE DR. PEPPER 3841715 PEPPER FREE 384077—42
DIET SEVEN UP 384171-7 SUGAR FREE PERPER FREE 3B4077-43
SEVEN UP 384171-8 DIET DR. PEPPER 3B4077-98
SUGAR FREE SQUIRT 384171-68 DIET SQUIRT PLUS 384077-113
PEPPER FREE 384171-79 DIET CHERRY COKE 384077-114
SQUIRT AB4171=112 CHERRY SEVEN UP 3B4077=121
DIET DR. PEPPER 384171-144 DIET CHERRY SEVEN UP 384077124
DIET SQUIRT PLUS 384171-151 SEVEN UP GOLD 384077149
FANTA GRAPE 384171-157 DIET SEVEN UP GOLD 384077-150
CHERRY SEVEN UP 384171161 COCA~COLA 384077-169
DIET CHERRY SEVEN UP - 3B4171-162 FRESCA 3B4077-170
SEVEN UP GOLD 384171-209 SPRITE 384077171
DIET SEVEN UP GOLD 384171-210 SUGAR FREE SPRITE 384077172
FRESCA 384171-246 TAB 384077173
MELLO YELLO 384171-247 MR. PIBB 384077-174
MR. PIBE 384171-251 SUGAR FREE MR. PIBB 384077-175
SUGAR FREE MR. PIBA 384171-252 FANTA GRAPE 3B4077—176
FANTA GRAPE 384171-253 FANTA ORANGE 384077—177
FANTA ORANGE 3B4171-254 FANTA ROOT BEER 384077—178
FANTA ROQT BEER 384171-255 MELLO YELLO 384077-179
CAFFEINE FREE COKE 384171-257 HI—C ORANGE 384077180
CAFFEINE FREE DIET COKE 384171-258 MI=C GRAPE 284077181
CAFFEINE FREE TAS 3B4171-259 HI-C LEMONADE 384077182
COKE 384171-263 HI-C RED PUNCH 384077-183
CLASSIC 384171 -064 DIET COKE 3B4077+184
CHERRY COKE 384171-265 CAFFEINE FREE COKE 384077—185
DIET COKE 384171-266 CAFFEINE FREE DIET COKE 384077186
TAB IB4171-267 CAFFEINE FREE TAB IB4077-187
SPRITE 384171-268 Hi~C PEACH 384077-188
DIET SPRITE 384171269 CHERRY COKE 384077189
DIET CHERRY COKE 3B4171-270 CLASSIC COKE 384077-19C
NEW COKE 384077191

DR. PEPPER DIMENSION 11l
WINDOW [ABELS

SEVEN UP STYLE

FLAVOR LABELS

(1.42 x 3.35)
(1.42 X 3.35)
DR. FPEFPER 38Bavz DR, PEPPER 389616-2
DMET DR. FEPPER 388872-1 DIET DR. PEPFER JEQBI16~3
FEPPER FREE 888722 RPERPRER FREE JB9516—4
DIET PEPPER FREE 38688723 DIET PERPRER FREE 3898165
SEVEN WP J88872=4
SQUIRT JBBB7Z-8

1e

~REVISED APRIL 1090 ~



(H:
‘ch do

CANADIAN AND INTERNATIONAL
FLAVOR LABELS

COKE STYLE
LABEL BUTTONS SMALL BUTTON LABELS
(1.57 X 3.36) (2,30 ¥ 3.50)
COKE C/E C/F 3886288 COCA=COLA (INTERNATIONAL) 384171-9
DIET COKE C/E 388628-4 SPRITE (INTERNATIONAL) 384171-10
DIET COKE C/F 388628-10 TAB C/E 384171-11
SPRITE C/E C/F 3BB626-11 FRESCA (INTERNATIONAL) JB4171-12
COKE CLASSIC C/F 38862832 COCA—COLA (CANADIAN) 3417113
COKE CLASSIC C/F 3B88628~33 SPRITE (CANADIAN) 3B4171-14
M/M LEMON LIME SODA C/E C/F 3B8628-34 FANTA ORANGE C/F 3R4171-15
MINUTE MAID ORANGE S0DA C/E C/F )B8628-35 FANTA RACINETTE (GRAPE SGDA) C/F  384171-15
CHERRY COKE C/E 388628-36 TAB C/F JH4171-17
CHERRY COKE C/F 388628-37 FRESCA (c:mmmy ‘ 3834171-18
DIET SPRITE C/E 388628-38 FANTA ORANGE C/C 384171 -3
DIET SPRITE C/F J8E628-39 FANTA RAISIN C/F 38417134
COKE 188628-85 FANTA ROCT BEER C/f 38417135
DIET COKE 3886258-86 FANTA GRAPL C/€ 384171-36
FANTA NARANJA 388628-87 FANTA GINGER ALE C/F 384171-37
KIST UVA JBAL2B-BR FANTA CINGER ALE C/F 3B4171-38
KIST FRESA 388528-89 Hi~C GRAFE €/ 384171-39
MALTA KIST 388628-90 Hi=C RAISIN C/F 384171 =40
BANANA JB8628-91 Hi=~C ORANGE C/C 284171 —41
MANZANA 388628-92 HI—C ORANGE C/F 384171-42
UVA 388526~ 95 Hi~C APFLE C/F 384171 =43
FRESA 38BE2B-96 HI=C FOMME C/F 384177 -¢4
NARAN.A 388628-97 Hi=C PEACH C/F 38417145
COKE (BLUE) C/E 3BA6ZA-98 HI—C PECHE C/F 3B4171=456
COKE gal.ue) C/F JB8E25-99 REALGOLD GRAPE G/t y 38417147
REAL GOLD GRAPEFRUIT C/E 384171-48
PEPSI MAGNUM STYLE REALGOLD gR’ANGE c;r 3B4171-49
REALGOLD ORANGE C/F 3B4171=50
BUTTON LABELS REALGOLD APPLE C/E 38417151
(150 X 3.31) REALGOLD PAMPLE MOUSSE C/F 38417152
REALGOLD POMMES C/F 384171-53
PEPSI (AMERICAN SALIDS) 388720-10 REALGOLD RAISIN C/F J84171-54
FEPS! (SAUD! ARARBIAN) 38872011 Hfﬁzkﬁﬁ’o” gg; ;;;—‘;‘g
TEEM {SAUD! ARABL, 388720-12 -
MEEANéA BIAN) 5337';‘8_1 3 FRESA STRAWBERRY 3B4171-71
MIRANDA (SAUDI) 388720-14 NARANJA 384171-72
SHANI 38872015 Lva 38417113
SHANI {(SAUDI) 3BB720=15 FANTA ROOT BEER C/F . 384771 —81
MIRANDA ORANGE (ARABIC) 388720-115 SUGAR FREE SPRITE C/K 384171-82
MIRANDA STRAWBERRY (ARABIC) 388720-116 SUGAR FREE SPRITE { /F 3B4173 83
MIRANDA LEMON (ARABIC) 388720-117 FESCA C/F SE4171—44
MIRANDA ORANGE (SINGAPORE) 348726-120 FANTA ORANGE €/E, C/F 284171 -§7
MIRANDA STRAWBERRY (SINGAPORE) 388720121 NESBITT ORANGE C/F 384171-117
MIRANDA SARS! (SINGAPORE) JBR720-122 ORANGE CRUSH /¥ 3841771 -121
STRAWBERRY CRUSH C/F 384171—izz
GR.E?‘F'E CRuﬁﬁ; C/F 3B4171- 1253
DIET Cokg ¢/C 3B4171-290
MEDIUM BUTTON LABELS DIET COKE C/F 384171291
(2.30 X 7.08) PEPSI SAUDI ARABIA 3B4171-292
PEPS! AMERICAN SALDI 384171263
NESBITT'S ORANGE G/F 38407774 MIRANDA 38417554
ORANGE CRUSH C/F 3B4077-79 MIRANDA BAUDI 3B4171-3R5
STRAWBERRY CRUSH C/F 384077~80 SHAN 384171-26
GRAPE CRUSH C/F 384077-81 SHANt SAUD! 384171-287
DIET COKE &/ 384077-122 TEEM SAUD! ARABTA 384171-298
MIRANDA ORANGE ({ARABIC) 34077152 MIRANDA ORANGE ARABIC 384171 -29
MIRANDA STRAWBERRY (ARABIC) 384077-153 MIRINDA STRAWBERRY ARASIC 384171-30
MIRANDA LEMON {ARABIC) 384077~ 154 MIRINDA LEMON ARABIC 384171301

~REVISED APRIL 1000 ~

13




Ve'ﬂ do®

"UNIVENDOR"y, HARDWARE

EEML | PART NO. DESCRIPTION

A V384341 PAN HEAD TAPPING SCREW 4—40 X 1 1/8
B V328761 T~BOLT 10-32 X 13/32
C VBOO&7C TRUSS HEAD TAPPING SCREw 10-16 X 3/8
D V800641 PAN HEAD TAPPING SCREW 10-16 X 1/2
£ V800762 PAN HEAD TAPPING SCREW 8-32 X 5/16
F V800885 LOCK NUT 5/16-18
G V800852 NUT AND LOCK WASHER ASSY. 10-32
H V800953 NUT AND LOCK WASHER ASSY. 1/4-28
I V800956 NUT AND LOCK WASHER ASSY., 8&-32
J V800959 NUT AND LOCK WASHER ASSY. 1/4-20
K V801013 PLAIN WASHER #10
L VBO1016 PLAIN WASHER 1/4
M V801368 SPRING NUT
N V801412 RIVET 1/8 DIA.
O V801421 WASHER HD. TAPPING SCREW 10-16 X 5/16
P V801422 WASHER HD. TAPPING SCREW 10-32 X 1/2
G V801434 ROUND HD. SQ. NECK BOLT 1/4-20 X 3/4
R V801471 RIVET 1/8 DIA.
S V801473 WASHER HD. TAPPING SCREW §-18 X 1 '3/4
T V801474 WASHER HD. TAPPING SCREW 8-18 X 7/8
U V801475 WASHER HD. TAPRING SCREW 8§—18 X 1/2
v V801479 HAIRPIN COTTER 1 7/16 LG.
W V801478 WASHER HD. TAPPING SCREW 4—-24 X 1
X V801480 WASHER HD. TAPPING SCREW 10-16 X 5/8
Y VB0 1482 CPLAIN WASHER #8
Z V801483 WASHER HD. TAPPING SCREW 8-18 X 1
AA VB0 1484 PAN HEAD SCREW 1/4-10 X 1
BB V801488 RIVET 1/4 DIA.
CC V801489 WASHER HD. SELF DRILL SCREW 10-16 X 1/2
DD VB0 1480 WASHER HD. TAPPING SCREW 1/4—14 X 1
EE V801491 PLAIN WASHER 3/8
FF V801483 SCREW PAN HEAD SELF TAPRING 8-10 X 1/2
GG V802053 CAP SCREW 1/4-20 X 2 1/4
HH V802054 LOCK NUT 1,/4-20
I V801360 WASHER HD. TAPRING SCREW 1/4=20 X 1/2
JJ VBOO586 WASHER HD. TAPPING SCREwW 8-18 X 7/16
KK VBO0267 MACHINE SCREW 1/4-20 X 3/8
LL V800512 PAN HEAD TARPING SCREW 10-16 X 1 3/8
MM VAOO745 PAN HEAD TAPPING SCREW4=-40 X 5/8

mzg NN V801488 PLAIN WASHER 1/4
Qo V802045 HEX STANDOFF NUT 8-32 X 1/2
PP V801455 WASHER HEAD TAPPING SCREW #8
QQ V800496 PAN HEAD TAPPING SCREW 8-18 X 5/16
RR VROO02 4 PAN HEAD MACHINE SCREW 4—40 X 3/8
SS V801329 PAN HEAD TAPFING SCREW 6-20 X 3/8
TT V801448 HEX NUT 3/8-32
y VBOORS 1 HEX NUT 6-32
Vv V802005 CARRIAGE BOLT 10-24 X 3/4
WW V800987 HEX NUT 8-32
XX VEBO1023 WASHER 1/2

A 14

~ BENISED APRIL 1960 ~





